

Kerala Co-operative Milk Marketing Federation Limited Cattle Feed Plant, Malampuzha P.O., Palakkad-678 651

Tel: 0491-2815107, 2815170, E-mail: cfm@milma.com GST No.32AAAAK5375M6ZB

CFP-M/PROJ/2020

07.10.2020

TENDER NOTICE

Sub: Enquiry for existing elevator pit modification at Cattle Feed Plant, Malampuzha -reg,

Sealed quotations are invited from experienced civil contractors for the following works:

SCOPE OF WORK

Modify the existing elevator pit as per the estimate and drawing provided.

PROBABLE AMOUNT OF CONTRACT

Rs. 91012/- Exclusive of GST.

WORK ASSESMENT EVALUATION

Bidders can visit and carry out the assessment of scope of work on any working days from 10 am to 5 pm before the last date of submission of the bid.

1. PRICE

Prices quoted by the tenderer shall be firm and fixed during the entire period of contract and shall not be subject to any variation or escalation whatsoever on any account.

The prices quoted shall be for Cattle Feed Plant, Malampuzha, including supply of all required items, labour charges, consumables, all taxes and duties, insurance charges, unloading/loading charges etc. at site.

3. GAURENTEE

The work should be guaranteed for the materials and workmanship for a period of six months from the date of completion.

4. PAYMENT TERMS

Payment will be released only after the completion of the entire works ie 100% will be released. The details of measurement and bill shall be submitted after completion of work.

General Conditions:

1. Applicable statutory deductions like GST, income tax, sales tax, EPF/ ESI, Work contract tax, etc. shall be effected while settling bills. The contractors must remit ESI/EPF for the work and for their employees should produce proof of remittance to avoid the ESI cutting while submitting the bills. Submit the chellan as the proof of remittance along with bills, for considering release of payment. Without the ESI/EPF remittance proof payments will be released only after cutting the ESI/EPF from the bills.

All essential materials required for the work shall be brought to the site before commencing the work.

3. Specifications shall be as mentioned in the schedule of quantities. clarification, our Engineer shall be contacted before taking up the particular work.

The quantities and items of works mentioned in the schedule are tentative. Manager reserves the right to place work order for part of the schedule, depending upon the financial implications. Payment shall be effected only for those quantities actually

The materials shall be inspected by our engineers before acceptance. The materials shall be of our approved make as per the schedule.

Each item of work shall be approved prior to commencement of the next work.

- The contractor shall arrange for all compliance to the ESI/PF rules in force. Cattle Feed Plant shall not be liable for any benefits/compensation to the workers engaged by the contractor, in the event of accidents/mishaps etc. during execution of work. The contractor shall provide suitable safety measures to their Workers and also the plant raw materials stored in that area in case of any emergency like rain/wind etc..
- The contractor or his workmen shall not interfere in any activity of the Plant and/or cause any damages to buildings/property. The entry of all such labourers will be on the basis of gate pass, which will have to be arranged by the Contractor prior to starting the work. In the event of any damage to Cattle Feed Plant's property, the contractor
- 9. Income tax, ESI and other applicable statutory deductions shall be affected while

10. The plant day to day activities should not be affected during the course of work.

11. The work found inferior in quality/ bad workmanship the same shall be redone at contractor's risk and cost.

Terms and Conditions:

1. The contractor shall provide all the material required for the works.

2. The contractor shall supply tools and tackles required for the works.

3. The entire works shall be completed within 20 days from the date receipt of

4. All the works shall be carried out as per the directions of our plant engineer.

5. Liquidated damages: If the work is not completed within the stipulated period, liquidated damages 1% per week of the order value shall be charged as penalty.

6. The contractor shall guarantee to rectify any defect noticed in works due to bad workmanship within six months from the date of completion of the work.

7. All safety measures shall be taken for the work like including safety belts, scaffolding's etc. work permit shall be taken before the commencement of work. All risk shall be covered by contractor as per norms.

The sealed superscribed offer must be submitted on or before 13.10.2020, 2.30 pm to the Manager, Cattle feed plant, Malampuzha, and will be opened at 3.30 P.M. on the same day.

The undersigned reserves the right to accept any or reject all the quotations without assigning any reason.

Thanking you,

Yours faithfully,

MANAGER

DE	TAILED ESTIMATE FOR THE MAIZE ELEV CATTLE FEED PLANT					CATI	ON WO	RK OI	AI
ltem No	Details of Work	No	L	В	Н	coeff	Qty	Total Qty	Unit
1	EARTH WORK:- Earth work excavation by mechanical means hydraulic excavator/manual upto 1.5M depth in all kinds of soil including shoring, struting, bailing/pumping of water, back filling of sides of foundations in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, low lying area etc.								
	All kinds of soil.						30		
	For pit	1	3.20	3.00	1.50		14.40		
	Total						14.4	15	cum
2	Description same as above but depth exceeding 1.5m but not exceeding 3 m	,	*						
	All kinds of soil.								
	For pit	1	3.20	3.00	0.80		7.68		
					•		7.68	8	cum
3	CONCRETE WORK:-Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work above/below plinth level:					1			
	1:4:8 (1 Cement : 4 coarse sand : 8 graded stone aggregate 40 mm nominal size).								
	Base	1	1.25	1.85	0.10		0.23		
		1	3.10	1.05	0.10)	0.33		
	Total				11		0.56	1.00) cum
• 4	Providing and laying RCC M20 concrete with 20mm down size aggregate in structures above/below plinth level for converyer trench beams slab etc., excluding the cost of centering and shuttering.	5		-			*	/	- 10
	Base slab	1	1.15	1.75	0.20	0	0.4025	5	,
	Base slab	1	2.90	0.95	0.20	5	0.55		
	* **	1	1.00		2.10		0.42		11
		1	2.00	0.2	2.10	0	0.84	4	
		1	2.60	0.20	2.1	0	1.0	9	
		1	0.60	0.20	2.1	0	0.2		
	Total					4	3.5	6 3.6	0 cum

5	Providing and erecting form work including strutting, propping etc. and removal of form for: Foundations, footings, bases of columns, etc. for mass concrete.								
	Base slab	1	1.15		0.20		0.23		
	Base slab	1	1.75		0.20		0.35		
	Base slab	1	2.90		0.20		0.58		
	Base slab	1	0.95		0.20		0.19		
	side wall	2	1.00		2.10		4.2		
	side wall	2	2.00		2.10		8.4		
	side wall	2	2.60		2.10		10.92		
	side wall	2	0.60		2.10		2.52	20	0.044
	Total						27.39	30	sqm
6	Providing, fabricating and placing in position TMT reinforcement steel.								
	M20	1	3.6			80	288		
	Total			~ *			288	290	kg
7	FINISHING WORK: - Providing and applying cement plaster in CM 1:4 12mm thick.								
	wall	1	0.8		2.3	*	1.84		
	wall	1	2		2.3		4.60		
	wall	1	2.2		2.3		5.06		
	wall	1	0.6		2.3		1.38		
		1	0.4		2.3	4	0.92		
	wall								
	Base slab	1	0.9		1.4		1.26		
		1	0.7		2.2		1.54	40	
	Total						16.6	18	sqm
8	Providing and applying water proof cement plaster in CM 1:3, 12mm thick .use approved waterproofing admixture made by reputed manufacturer in the mortar for plaster work.				Sec.				
	Above PCC	1	3.1	2.9	1		8.99		
	Total						8.99	9	sqm .
9	STEEL WORK: Providing and fixing MS inserts, nosing channel corner angles etc. in RCC and brick work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.		,	,		à			· ·
						. 4 .		V	
		1	5	- Nach		4.5	22.5	4.	

10	Providing and fixing MS chequered plate 6mm thick including painting with two coat of red oxide primer and 2 coat of synthetic enamel paint of approved make finished to even shade as per technical specifications.								
	pit area	1	1	0.6		48.04	28.824		
	Total						28.824	31.18	Kg
11	MISCELLANEOUS WORK:- Dismantling PCC 1:5:10, 1:4:8 1:3:6 including finishing the broken surface to match with surroundings including removing the debris as per the direction of Enginner in charge.								
	Ttl qty	1	1.00	1.00			1	1	CUM
12	Dismantling the RCC beams, slabs, lintels, columns, pardi walls, platform etc. including finishing the broken surface to match with the surrounding, removing the debris within site, including cutting the reinforcement if any etc. complete. Disposal of unserviceable material within 50 metres lead as per direction of Engineer-in-charge			4.					
	No.	1.0	1.4	0.2	2.45		0.686		
		1.0	1.4	0.2	2.45		0.686		
	Total					1	1.372	1.4	CUM

al

